
CUOCIPASTA COMPONENTI COMUNI

NEDG73142

descrParent

4/7/2021 11:20:41
AM

This document is exclusive property of SILKO ALI Group S.r.l. and should not be distributed, reproduced, into any other format
without prior permission of SILKO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 1 of 5



CUOCIPASTA COMPONENTI COMUNI

Pos Code Description

0001 CR1166930  FLUE GRID [C] M640

0002 CR0588190  PIN [C] DRAINER PASTA COOKER

0003 MA1817201 ASS.GRIGLIA SCARICO

0004 CR0588001LE SGOCCIOLATOIO CUOCIPASTA

0005 CR0736780  TAP [C] PASTA COOKER

0006 MA1036507500  GASKET [C] 15,60X1,78

0010 MA1033504000  CLAMP [C]

0011 CR0581810  4 WAYS COMMUTATOR [C]

0012 CR0587650  GASKET [C] SHAFT

0013 CR1227600  PIPE [C] D. 72CM

0015 CR0585951  PRESSURE SWITCH [C]

0017 CR0585930  SILICONE RUBBER PIPE [C] D. 4X8

0018 MA15119299  GRAIN [C]

0019 CR0589882  PIPE [C]

0020 CR0731830   PIPE [C] PASTA COOKER  700

0021 SI8206800  EXTENSION [C] DRAIN PASTA COOKER 700

0022 MA15860399  FLANGE [C]

0023 CR0588510  GASKET [C] CONTROL PANEL 900

0024 CR1094330  KNOB [C] SHAFT D. 6

0025 CR0580460  BUSH [C]

0026 CR0584030  METAL LABEL [C]

0029 MACM155200  HANDLE [C] PASTA COOKER DRAIN

0030 MA1515900  SPACER [C] KNOB

0031 CR0682340   NUT [C]

0033 MA1033504000  CLAMP [C]

0034 MA6086113  FOOT ASSEMBLY [C] H. 200

0037 MA1878400  TERMINAL BLOCK [C]

0039 CR0681800  WATER DRAIN [C] TANK PASTA COOKER

0040 MA15203299  SCREW [C] M5X45 UNI EN ISO 4014

0041 CR0588960  VALVE [C]

0042 CR0682880  CONNECTOR [C] PIPE D. 22

0043 MACM161300  CONNECTOR [C] M/F

4/7/2021 11:20:41
AM

This document is exclusive property of SILKO ALI Group S.r.l. and should not be distributed, reproduced, into any other format
without prior permission of SILKO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 2 of 5



GAS PASTA COOKER

NEDG73142

descrParent

4/7/2021 11:20:41
AM

This document is exclusive property of SILKO ALI Group S.r.l. and should not be distributed, reproduced, into any other format
without prior permission of SILKO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 3 of 5



GAS PASTA COOKER

Pos Code Description

0001 CR1225320  CONNECTOR [C] M/F

0002 CR0588190  PIN [C] DRAINER PASTA COOKER

0003 CR1166940  FLUE GRID [C] M60 ESSENCE 2015

0005 CR0588001LE SGOCCIOLATOIO CUOCIPASTA

0006 CR0582451  TAP [C] PASTA COOKER

0007 MA1817201R  PROTECTION GRID [C] DRAIN

0008 CR0682880  CONNECTOR [C] PIPE D. 22

0009 CR0585951  PRESSURE SWITCH [C]

0010 MA15119299  GRAIN [C]

0011 CR0585930  SILICONE RUBBER PIPE [C] D. 4X8

0012 MA2867700  GASKET [C] 9,19X2,62

0013 CR0589882  PIPE [C]

0014 CR1225330  COUPLING [C] TANK-PIPE CONNECTION

0015 MA1033504100  STEEL CLAMP [C]

0016 MA673500  NUT [C] M10X1

0017 MA1888100  BICONE [C] D. 4

0018 MA1888400  CONNECTOR [C] IGNITOR CLAMPING

0019 MA1891700  CONNECTOR [C] THERMOCOUPLE

0020 MA1949900  IGNITOR [C]

0021 MACM029000  PILOT [C]

0022 MACM029100  THERMOCOUPLE [C] L 850

0023 CR1227600  PIPE [C] D. 72CM

0024 LA65080250  ENERGY REGULATOR [C]

0025 CR0581810  4 WAYS COMMUTATOR [C]

0026 MA15860399  FLANGE [C]

0027 CR0588510  GASKET [C] CONTROL PANEL 900

0029 CR0584030  METAL LABEL [C]

0030 CR1095040  KNOB [C] SHAFT E15 D. 6

0031 CR0580460  BUSH [C]

0032 CR1095240   METAL LABEL [C]P/CP SILKO E15

0033 CR0738760  EXTENSION [C] DRAIN PASTA COOKER

0034 MA1036507500  GASKET [C] 15,60X1,78

0035 MA1326500  NUT [C] M16X1,5

0036 CR1220530   PIPE [C] PASTA COOKER  900 M60 ESS.

0037 CR0589760  GLASS PLATE [C]

0038 CR0589800  GASKET [C] VALVE PANS 900

0039 MA1515900  SPACER [C] KNOB

0040 MACM155200  HANDLE [C] PASTA COOKER DRAIN

0041 CR0589750  CAP [C] DRAIN EXTENSION

0042 CR0939340R  SOLENOID VALVE [C] 230V

0043 CR0682340   NUT [C]

0044 MA5142000  PRESSURE REGULATOR [C]

0045 MA1871200  VALVE [C] 230V

0046 CR0731790  RAMP [C] PASTA COOKING 700 M40

0047 CR0588180  3 POLES TERMINAL BLOCK [C] 450V

0048 CR0506300  ELECTRIC NOISE FILTER [C]

0049 CR0738770 CONDUTTURA BRUCIATORE CUOCIP.700 M60

4/7/2021 11:20:41
AM

This document is exclusive property of SILKO ALI Group S.r.l. and should not be distributed, reproduced, into any other format
without prior permission of SILKO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 4 of 5



GAS PASTA COOKER

Pos Code Description

0050 MA1326500  NUT [C] M16X1,5

0051 MA86720  BICONE [C] D. 10

0052 MACM021700  NOZZLE HOLDER [C]

0053 MA1033700200  NUT [C] M14X1

0054 MACM101601  AIR REGULATOR [C]

0055 MACM088100  BURNER [C] PANS 900

0056 MA673100  NUT [C] M20X1,5

0057 BN6A016300  OLIVE RING D. 12

0058 CR0588920  NIPPLE [C]

0059 CR0738780 CONDUTTURA PILOTA CUOCIPASTA 700 M60

0060 MA2971400  ELECTRICAL IGNITER [C]

0061 CR0587500  ORANGE PILOT LAMP [C]

0062 CR0681800  WATER DRAIN [C] TANK PASTA COOKER

0063 MA1033504000  CLAMP [C]

0064 CR0588960  VALVE [C]

0065 CR0587650  GASKET [C] SHAFT

0902 MA1491000  NOZZLE [C] D. 320

0902 MA1631300  NOZZLE [C] D. 165

0902 MA1695300  NOZZLE [C] L. 300

0902 MA2715100  NOZZLE [C] D. 270

0902 MA2715200  NOZZLE [C] D. 290

0902 MA2972100  NOZZLE [C] D. 175

0902 MA707200  NOZZLE [C] D. 190

0903 MA1887800  NOZZLE [C] D. 27 PILOT

0903 MA1888000  NOZZLE [C] D. 14 PILOT

4/7/2021 11:20:41
AM

This document is exclusive property of SILKO ALI Group S.r.l. and should not be distributed, reproduced, into any other format
without prior permission of SILKO ALI Group S.r.l. - Specifications subject to change without prior notice

Page 5 of 5


